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9.

10.

Describe the PLC as PID controller with its
advantages. 6

‘ﬂoWoﬁo Hﬁﬂiﬁﬁiﬁtﬁo 3]1—550 Slo
g © 29 ¥ guiq aml & 91T B |

OR (3121a1)

For what type of process PLC is suitable ?
Define discrete state process control.

fog yorR © yfehar & forw flovcdodio
Iugad =7 fswpic we ufbar Rz
B gRAT &Y |

Compare between pneumatic controller and
hydraulic controller.

ad fae dor sissifae I &
9= gam W |

OR (3121a1)

Describe a synchronous transmitter working as error
detector.

T Ffe T 31 avg s I ad
Rrspi—giafier & aar=T & |
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2019(Even)

Time : 3Hrs. Sem - IV/ICE
Indust. & Auto
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question
carries 4marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all five questions from Group C, each question

carries6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Define the term Human Machine Interface (HMI)
with its suitable application in control system. 4

TLIHI-ENT §TROW (ToTHORANTE0) UG Bl
IRAINT &) g = ugfa 4 Suged
SUART & W17 |

OR (3121a1)

Differentiate between electrical & electronic
controller and a digital controller.

% fagla vd sodagiie Fraas aem @
fsforea faa® & T A wse &Y |

Explain the role of SCADA in the large industry. 4
§S S H SCADA &1 T AT 27
OR (3121a1)

Discuss four elements of a control system. Also
define the term. Actuating signal and Actuator.

fra=vr ygfd @ aR dcdl &1 quis & 9 d)
TagufeT Rivial 2 gaguer & aRefya &3 |
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(i)

(iii)

(iii)

(iv)
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fr=Tifea 4 9 <19 $U4 I U

FriFe ugfa @ fag 4@ =7

(31) ISP STdTAT TIeld oHT =

@) s9a v Rafaw Ffe qonie e
Wfya fa=m =1 w1 8

(@) |+ qond g faAT = B

(]) =4l (31) @2 (@)

A feedback system

(a) Is a single signal input system

(b) Has no provision for the supervision of
the output

(c) Has the capability to act as a self
correcting mechanism

(d) All of the above

Uh Blsdd Ugfa

@) o v Rred 399Yc ugfa

@) e aseye FIRE &1 318
YTaeT= 921 &rdT 2 |

(9) @a: 921 OF I a8 I B Bl
g9dr 8l 2

(2) Suiqa g+

In a control system the comparator measures
the difference between

(a) Output and input

(b) Actual and desired performance

(c) Controller and system

(d) None of these
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(xx) Slo¥loTo AR I¥Id: B HaT 2,
SYANT HId Y
(31) ofer g1 WA
(@) I 83 dcdd GaR
(|) <14 (31) T2 (9)
(@) 3 4 BIg &

GROUPB

Answer all Five Questions.

Il uig 93 & SN < |

2.

5x4=20

Define control system. Write its types with
suitable applications. 4

=T ygfa &1 avfq &) | sa fafr=1
yeRI & M Sfua suai & arer fod |

OR (3121a1)
Describe closed-loop control system with its

advantages and disadvantages.

go—oU =T ugfa &1 quiq o9 aen
AT @ ATl & |
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(vi)
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(viii)
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= ugfa # urf~aafier &
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(a1) smafa yfafwsar dgav 2g

@) wra gfafsar dgav 2q

(@) dgax Rerar 7q

() Ffe ¥R grasgwR oI a¥s

Synchro is a/an

(a) Frequency transformer

(b) Electronic rectifier

(¢) Electro-magnetic transducer
(d) Electro-mechanical device

ts fRa=pl 2 /2 |

(a1) smgfa uRomf=

(@) soacif<e fFeHrRR

(\) faga ge»@ grasgay
(?) faga gra@Ia SUBROT

The input to a stepper motor is in the form of
(a) Frictional force

(b) Electrical pulses

(c) Mechanical inertia

(d) Viscous damping force

P.T.O
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(xvii)
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foar S @ S 3rSeye q YT
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@) BREx aRad+

(¥) arerms ufRads

(2) z- uRad=

When integral action is included in proportional
controller, the proportional band.

(a) Increases

(b) Reduces

(c) Remain unaffected

(d) None of these

afe gauita e 4 sfgwrsa il
®I s faar Sy af |guruIfa d-s
(31) S Smem

(@) = S

(¥) I d<clrd 81 BII

(?) s 9 PIg LI

In a PID controller, the overshoots have
increased. The derivative time constant has
tobe.erriiennns so as to reduce the overshoots.
(a) Increased

(b) Reduced

(c) Reduced to zero

(d) None of these

N4103
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(xii)
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yTad] gRT waf—drex gf-ardt v
9 U

(31) wrdHifi® #wex 2

() enfRar #wiex @

(@) fgdor 9RO Aiex 2

(2) e YR Hiex @

An on-off controller is .............. controller
(a) Proportional

(b) Integral

(c) Non-linear

(d) PID

Udh 3AT—3TH Bl B........ Hrg el
(a1) gHTFUTh

(@) sifaursy

(\) A= YEy

(?{) tﬁoaﬂg o@P[o

Over an electrical system, the hydraulic
system has the drawback of

(a) Fluid leakage

(b) Bulkiness

(c) Poor efficiency

(d) All of these
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11. Write notes on :-
(a) Distributed control system (DCS)
(b) P + I control action

3 W fewft fow:
(@) war gan e ggfa (DCS)
(@) P+ I fa=or wfafafer

OR (3121a1)
Write notes one -
(1) AC servomotor
(i1) Synchros
fewoft for g -
(31) gcaTadt Hafdaiex
@) Ra=pt

kkk
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11. Write notes on :- 6

(a) Distributed control system (DCS)
(b) P +1I control action

3 WX fewoft ford:
(31) Bar ganm Fraer agfa (DCS)
(@) P+ 1 fa=or wfafafer

OR (3121a1)

Write notes one -
(1) AC servomotor
(i1) Synchros

fewof ford -
(31) gcaTadt Hafdaiex
@) Ra=pt
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